%51 501

AVENTICS™  AVENTICS 501 %575 @324l {5 &
EMERSON.



AVENTICS 501 35!l 75 [a] 4% 1 & 2
2024-01-19

%31 501

AVENTICS 501 R —AHERTETULWERAER] , RITHFNTFRIEEZ, SHRE. KIENSOEIZFHM LS
HNA, EIRFIZITHEEN TR —FRTEE, TYUZE , BEAX , KF  BERETEE15 mm E 20 mmEB
HRHRENEIIFR. i, BEINECENTERESEME ZHAER, 2EDBANESTERSE S, 501
RYEINEIMEDXEER , SHAPTERMESSRES , MERR]. BESIMEE,

« BRICRITHEAS M SCEEE
- REEREARITEZEARETREEANNS

SMA
« RRE, RYRZE , TRRFERIRANHAEZEH

AR A v 3

e PERL TIPS P S L1,
& TIHLEE, e R /
+ 5 AVENTICS G3 R5I# 580 8B FH# B4 F 40N E A

aRa
+ 580 CHARM 11 R 578 FH LK DeltaV 5%
REHRARE

48R

5

G3 Backplane extension
Left End Module

Jumper Clips

1/0 Labels

Auto Recovery Module (ARM)

1/0 Modules-
Analog or Digital
NPN or PNP

Communication
Module (Node)

Valve System Assembly
Series 501, 502, 503, 2035,
1ISO15407-2 & ISO 5599/2 Valves

DIN Rail Mounting Option

EMERSON.



AVENTICS 501 35175 )42 &l i 3
2024-01-19

2xZ{U =18 @i, %% 501

TR
BT

FHHREEE f 5 = BERZ= DC Ih=E &% DC
W]
RER HEAIERA 24V DC SAEREY -15% / +10% 0.68 |R501A2BDOMAOOF 1
RAR B IEF 24V DC SAERHY -15% / +10% 0.68 |R501A2BAOMAOOF1
BAR BHXRIEF 24V DC SAERHY -15% / +10% 0.68 |R501A2BCOMAOOF 1
BEN il 24V DC SERHY -15% / +10% 0.68 |R501A2BDOM11BF1
BER B IEF 24V DC SERHY -15% / +10% 0.68 |R501A2BAOM11BF 1
BER BXRIEF 24V DC SAERHY -15% / +10% 0.68 |R501A2BCOM11BF1
Mg
I [— .
| i g
o0
© ' ¥
S - 1.
< ‘ |
. L
Y -&ﬁ—
. 6115 =l 144,

EMERSON.



AVENTICS 501 35175 )42 &l i 4
2024-01-19

—fuREHREE, K5 501

BHE
BT

FHHREEE & 5 = BERZ= DC Ih=E &% DC
B HXIEFF 24V DC SAEREY -15% / +10% 0.68 | R501A2B10MAOOF 1
BER HX/EF 24V DC SEREY -15% / +10% 0.68 | R501A2B10M11BF1
FEE S
105 .
I [_‘ .
T = Tt
o0
© ' ?
S - i
Nl T
1 &ij*;— | I
.4 5215 | |
14.4
L 61,15 i -

EMERSON.



AVENTICS 501 35175 )42 &l i 5
2024-01-19

—fuREHREE, K5 501

R
BT

FHHREEE & 5 = BERZ= DC Ih=E &% DC
B HXIEFF 24V DC SAEREY -15% / +10% 0.68 | R501A2B40MAOOF 1
BER HX/EF 24V DC SEREY -15% / +10% 0.68 | R501A2B40M11BF1
FEE S
105 .
I [_‘ 1
T = Tt
o0
© ' "
S - i
Nl T
1 &ij*;— I
.4 5215 | |
14.4
L 61,15 i -

EMERSON.



AVENTICS 501 35175 )42 &l i 6
2024-01-19

513 @, R5 501

TR
BT

FHHREEE f 5 = BERZ= DC Ih=E &% DC
W]
RER P HES 24V DC SAEREY -15% / +10% 0.68 | R501A2B50MAO00F 1
RAR RS 24V DC SEREY -15% / +10% 0.68 | R501A2B60MAOOF1
BAR AR E 24V DC SAERHY -15% / +10% 0.68 | R501A2B70MAOOF 1
BEN RAHES 24V DC SEREY -15% / +10% 0.68 | R501A2B50M11BF1
BER R vE i 24V DC SERHY -15% / +10% 0.68 | R501A2B60M11BF 1
BER AR E 24V DC SAERHY -15% / +10% 0.68 | R501A2B70M11BF1
Mg
105 .
I [— .
| i g
o0
© ' ¥
S - 1.
< ‘ | ’_,_
Y &ﬁ— | I
.t b21b6 | |
14,4
L 61,15 i -

EMERSON.



AVENTICS 501 %575 @32 & i@ ’
2024-01-19

B&BER, R G3

EZVEHPS
7/8"

Pz B L& B RENTERE BFRENTEEE

DeviceNet 4-8+ 24V DC -10% / +10% 240-180

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 8
2024-01-19

35

118

= =

56 81

&

EMERSON.



AVENTICS 501 %Il 75 [a1322 41 i@ 9
2024-01-19

%% G3

Pz B L& B RENTERE BFRENTHEEE
MODBUS TCP 4-8+ 24V DC -10% / +10% 240-292

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 10
2024-01-19

55

\ (@) ©
:

=

18

=
=]

56 81

&

EMERSON.



AVENTICS 501 R 5175 B 241 1
2024-01-19

%% G3

Pz B L& B RENTERE BFRENTEEE
PROFIBUS DP 5-§t 24V DC -10% / +10% 240-239

EMERSON.



AVENTICS 501 3 Il 75 [a] 42 %l 12

2024-01-19
55
p
I )
56 81
l: @
4

EMERSON.



AVENTICS 501 35175 )42 &l i 13
2024-01-19

%% G3

Pz B L& B RENTERE BFRENTEEE
Profinet 5-§t 24V DC -10% / +10% 240-240

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 14

2024-01-19
55

D

[

P a0

| ] )
56 81

@ @
&

EMERSON.



AVENTICS 501 35175 )42 &l i 15
2024-01-19

%% G3

Pz B L& B RENTERE BFRENTHEEE
POWERLINK 5-§t 24V DC -10% / +10% 240-309

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 16

2024-01-19
55

D

[

P a0

| ] )
56 81

@ @
&

EMERSON.



AVENTICS 501 35175 )42 &l i 17
2024-01-19

%% G3

Pz B L& B RENTERE BFRENTHEEE

CANopen 4-8t 24V DC -10% / +10% 240-291

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 18
2024-01-19

35

118

= =

56 81

&

EMERSON.



AVENTICS 501 35175 )42 &l i 19
2024-01-19

%% G3

Pz B L& B RENTERE BFRENTHEEE
EtherNet/IP 4-8+ 24V DC -10% / +10% 240-325

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 20

2024-01-19
55

D

[

P a0

| ] )
56 81

@ @
&

EMERSON.



AVENTICS 501 35175 )42 &l i 21
2024-01-19

%% G3

Pz B L& B RENTERE BFRENTHEEE
EtherCAT 4-8+ 24V DC -10% / +10% 240-310

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 22
2024-01-19

]

118

£l

&

EMERSON.



AVENTICS 501 35175 )42 &l i 23
2024-01-19

%% G3

EZVEHPS
7/8"

Pz B L& B RENTERE BFRENTEEE

EtherCAT 4-8t 24V DC -10% / +10% 240-362

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 24

2024-01-19
55

D

[

P a0

| ] )
56 81

@ @
&

EMERSON.



AVENTICS 501 35175 )42 &l i 25
2024-01-19

EimAR

BFRENTERE BFRENTERE

24V DC -10% / +10% 240-184

EMERSON.



AVENTICS 501 & 5175 [ 42 il i

26
2024-01-19

m

~

118

25

b5

13

25,5

54
EMERSON.



AVENTICS 501 35175 )42 &l i 27
2024-01-19

EM R L G3kY iRk

’

BFRENTERE BFRENTHEEE

24V DC -10% / +10% 240-183

EMERSON.



AVENTICS 501 & 5175 [ 42 il i

28

2024-01-19
I ‘al
O G
| e
AUX. POWER
ouT
)
O -
I \
fh
em @
. h
B [
LN
N
2k
37
&

EMERSON.



AVENTICS 501 35175 )42 &l i 29
2024-01-19

A 5L G3M iRk

BFRENTERE BFRENTHEEE

24V DC -10% / +10% 240-185

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 30

]
- ]
i 5 raY
;"l )
C o =
| /§ o
) o
|
oo | -
E Y

EMERSON.



AVENTICS 501 35175 )42 &l i 31
2024-01-19

G33d 3 X A AR

BFRENTERE BFRENTHEEE

24V DC -10% / +10% 240-255

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 32
2024-01-19

skl @
A :
4 g
[

¥

&

EMERSON.



AVENTICS 501 35175 )42 &l i 33
2024-01-19

L& BRER , G3RF

G3

240-382

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 34

2024-01-19
C \
:
AUTO
RECOVERY
MODULE
(ARM)
ﬂﬁg Egg -
- ggg QES 0
1 :
:
8 “@
——
| i —
EJ
L 42 | ='|2,5
49 | 265
(1 ——
-_@ V/
2
S

EMERSON.



AVENTICS 501 35175 )42 &l i 35
2024-01-19

T AR

G3

501
502
503

240-179

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 36

n | A

<
aO
| )

I
§ =1
20
. | 12.5

EMERSON.




AVENTICS 501 35175 )42 &l i 37
2024-01-19

2RR

BFRENTERE BFRENTHEEE

24V DC -10% / +10% | P599AE508827001

EMERSON.



AVENTICS 501 & 5175 [ 42 il i

38

2024-01-19
- i
© n
—
©
©
i
=
%)
' [
FE
_— = Ln
i
21,
ol
&

EMERSON.



AVENTICS 501 35175 )42 &l i 39
2024-01-19

G3 Subbus 18R

EZVEHPS
7/8"

BFRENTERE BYRENTERE

4-gF 24V DC -10% / +10% 240-241

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 40
2024-01-19

55

\ (@) ©
:

=

18

=
=]

56 81

&

EMERSON.



AVENTICS 501 35175 )42 &l i 41
2024-01-19

E/ARER, G35

i e I/0 #HIREE BFRENTERE BFRENTHEEE
16 BFH AL PNP 24V DC -10% / +10% 240-203
16 BF 8 Al NPN 24V DC -10% / +10% 240-204
8 B4 Ak PNP 24V DC -10% / +10% 240-316
16 BF 5 A NPN 24V DC -10% / +10% 240-330

EMERSON.



AVENTICS 501 3 Il 75 [a] 42 %l 42

2024-01-19
AR
55
W oL |
SET NEXT
16DI
PNP
il i
o (1 =11
N (1 o1
N | 1
S 1| W23 0
(N (1| il 3(T2 =
N [T H 1]
® [ -
o 7| 4T
N | s
® [(TT 6|1
N £ | 7
S 2 1| BT
| a 06
64 80
G!l '@
&

EMERSON.



AVENTICS 501 35175 )42 &l i 43
2024-01-19

E/ARER, G35

I/0 IR BIEBENITERE BYEBENTERE
8 W= AR PNP 24V DC -10% / +10% 240-379

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 44
2024-01-19

172

He

28 _ 33

&

fﬂ- EMERSON.
P r—




AVENTICS 501 35175 )42 &l i 45
2024-01-19

E/ARER, G35

A% B /0 HEIREH eSS
16 BF 5 A PNP 240-323

EMERSON.



AVENTICS 501 35175 )42 &l i 46
2024-01-19

E/ARER, G35

L=y /O EHRLE BYEE BTEE
B THEsBE B TERE

16DISM12, =% 16 B AR PNP 24V DC -10% / +10% 240-205
Al PNP

8DISMS, BF 5 A 8 B A% PNP 24V DC -10% / +10% 240-206
% PNP

16DO8M12, B F % 16 B EE 24V DC -10% / +10% 240-207
Hi% PNP

8DO8M12, BiFH 8 i Hi% PNP 24V DC -10% / +10% 240-208
Hi% PNP

16DISM12, ¥ =% 16 B A% NPN 24V DC -10% / +10% 240-209
A% NPN

8DISM12, FH@ A 8 B H AR NPN 24V DC -10% / +10% 240-210
#% NPN

8DO8M12, = 8 8| BiE A/ PNP 24V DC -10% / +10% 240-211
A/FIH PNP

8DO8M12 8 W HEE 24V DC -10% / +10% 240-300

EMERSON.



AVENTICS 501 3 Il 75 [a] 42 %l 47

2024-01-19
55
s AVENTICS _ bam
L9
B = 1819 16DI 1911 —
o PNP
B
g
L .
B‘ -—
|-
i — | 3
E
(=
.
54 80
[ — - = 1
\..u '@
S

EMERSON.



AVENTICS 501 35175 )42 &l i 48
2024-01-19

E/ARER, G35

/0 IR BFEE BFRE
W T{EBE B e E

4AI4M12-E 4 BEilm AEE 24V DC -10% / +10% 240-212
2AIAO8M12 2 2| AR A/ 24V DC -10% / +10% 240-213
4AI4M12-E 4 Bl AEE 24V DC -10% / +10% 240-214
2AIA04M12 2 2| AE U A S 24V DC -10% / +10% 240-215
2AIAO8M12 2 2| AR A/ 24V DC -10% / +10% 240-307
4 4| AR A S 24V DC -10% / +10% 240-363

EMERSON.



49

2024-01-19

AVENTICS 501 R 5l 75 a2 5| iR

95

AxEN
NEXT

[ ]

SET

80

\\M\.IM‘MMI.\\E

i
=

95

&
EMERSON.

.
@k

§

4
i1
E 1




AVENTICS 501 35175 )42 &l i 50
2024-01-19

%% G3

I/0 BIREH B RENTERE BFRENTEEE
TR, M12x1 Bilm A EE 24V DC -10% / +10% 240-311

EMERSON.



51

2024-01-19

AVENTICS 501 R 5l 75 a2 5| iR

95

AxEN
NEXT

[ ]

SET

80

\\M\.IM‘MMI.\\E

i
=

95

&
EMERSON.

.
@k

§

4
i1
E 1




AVENTICS 501 35175 )42 &l i 52
2024-01-19

E/ARER, G35

E/A AR
8 BH /0 Thie 8 A/ 240-326

EMERSON.



53

2024-01-19

AVENTICS 501 R 5l 75 a2 5| iR

95

AxEN
NEXT

[ ]

SET

80

\\M\.IM‘MMI.\\E

i
=

95

&
EMERSON.

.
@k

§

4
i1
E 1




AVENTICS 501 351l 75 a2 &l i 54
2024-01-19

B BEee, 5580

Y7 B L& B RENTERE BFRENTHEEE

CANopen 4-gt 24V DC -10% / +10% | P580AECO1010A00

&

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 55
2024-01-19

118

©)

=
H
68

L[]
—
u

54
EMERSON.



AVENTICS 501 35175 )42 &l i 56
2024-01-19

%1 580

Pz B L& B RENTERE BFRENTHEEE
DeviceNet 4-8+ 24V DC -10% / +10% | P580AEDN1010A00

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 57
2024-01-19

118

©)

=
H
68

L[]
—
u

54
EMERSON.



AVENTICS 501 35175 )42 &l i 58
2024-01-19

%1 580

Pz B L& B RENTERE BFRENTHEEE
EtherCAT 5-§t 24V DC -10% / +10% | P580AEEC1010A00

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 59

2024-01-19
o
(
\
165 E
cuass 2 O
v on n
(=
L#._
49
4

EMERSON.



AVENTICS 501 35175 )42 &l i 60
2024-01-19

%1 580

Pz B L& B RENTERE BFRENTHEEE
EtherNet/IP 4-8+ 24V DC -10% / +10% | P580AEED1010A00

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 61

2024-01-19
o
(
\
165 E
cuass 2 O
v on n
(=
L#._
49
4

EMERSON.



AVENTICS 501 35175 )42 &l i 62
2024-01-19

%1 580

Pz B L& B RENTERE BFRENTHEEE
POWERLINK 4-8+ 24V DC -10% / +10% | P580AEPL1010A00

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 63

2024-01-19
o
(
\
165 E
cuass 2 O
v on n
(=
L#._
49
4

EMERSON.



AVENTICS 501 35175 )42 &l i 64
2024-01-19

%1 580

Pz B L& B RENTERE BFRENTHEEE
PROFIBUS DP 5-§t 24V DC -10% / +10% | P580AEPT1010A00

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 65

2024-01-19
=)
£|
p =
-
3l
)
L6
49
s

EMERSON.



AVENTICS 501 35175 )42 &l i 66
2024-01-19

%1 580

Pz B L& B RENTERE BFRENTHEEE
Profinet 5-§t 24V DC -10% / +10% | P580AEPN1010A00

EMERSON.



AVENTICS 501 & 5175 [ 42 il i 67

2024-01-19
o
(
\
165 E
cuass 2 O
v on n
(=
L#._
49
4

EMERSON.



AVENTICS 501 35175 )42 &l i 68
2024-01-19

H&BERR, R 580

EZVEHPS
M12x1

Pz B L& B RENTERE BFRENTEEE

DeltaV 5-§t 24V DC -10% / +10% | P580AECH2010A00

EMERSON.



AVENTICS 501 & 5175 [ 42 il i

69
2024-01-19

1

ld
)

'ONaEd "LVd ¥3HLO

09§

SPOLOBL
ON ‘Lvd SN

©

OXO)

o)

118

Il Il

L 11

—~

68

L6

49

&

EMERSON.



AVENTICS 501 35175 )42 &l i 70
2024-01-19

%1 580

P B L& Y BFRENTERE BYRENTERE
|O-Link 24V DC -10% / +10% | P580AELM1010A00
10-Link 24V DC -10% / +10% | P580AELM2010A00

EMERSON.



AVENTICS 501 & 5175 [ 42 il i

71
2024-01-19

OON®

VALVE
PWR

PWR

10-LINK
comMM

118

ln o

69

L6

49

&

EMERSON.



AVENTICS 501 35175 )42 &l i 72
2024-01-19

W IR AR B 1

> qﬁ
gt ’

HESTE

KRR , BEAH , EEIRET | R501AY428501001

98

|
TT

A

| 71

[0

D ¥

O

0,0
Di%

o' o

N |0 DO

fﬂajiﬁa\

‘ES’U‘ES’

EMERSON.



AVENTICS 501 35175 )42 &l i 73
2024-01-19

Bik , 501 Rl

==

HEEE

AR, BHAH , EERET | P501AB429685001

A

EMERSON.



AVENTICS 501 35175 )42 &l i 74
2024-01-19

TR, 501 R 5

HESTE

TRk BHEAN , EERLT | R501AS428500001

TiT I

J I =T

T A=l
LT T LI

T
52,25

45 » 61,25 n

&
[ g ===

T
- 106 N

EMERSON.



AVENTICS 501 35175 )42 &l i 75
2024-01-19

EMRIFTIRE , 501 K5l

g, BEENH , EERYT, EhX | R5S01ARS52JA0010

A

. 139

‘ | Iy
| o] | ¢ 0OMOO @
il

EMERSON.



AVENTICS 501 351l 75 a2 &l i 76

2024-01-19

imik , 501 Rl

HESTE

ERER , BEASF  EERT | G501AK429465009

©
«©
™~ © =
7 o P
— © W W N O o O )
< 7 oy 1P PaPa aTarT | & of I
[Te] o Vin Wi WY o O Fin W an W ) R - 0|
— | ATATA TR ~
1 E o
sl 10,9 ©
7.5 413
9.1 J 18 21,1
14.4 30 3225
23 42
48 36

118

105

©
76,6

EMERSON.



AVENTICS 501 35175 )42 &l i 77
2024-01-19

G33d 3 X A AR

BFRENTERE BFRENTHEEE

24V DC -10% / +10% 240-255

EMERSON.



AVENTICS 501 F 3 75 [a 42 i i 78
2024-01-19

skl @
A :
4 g
[

¥

&

EMERSON.



AVENTICS 501 35175 )42 &l i 79
2024-01-19

[ 2 4d 3k, &% CON-RD

ELTEGPS
M12x1

T BT 85
Mgy BERE R
BINEE C] Cl
[mm]
48 V AC/DC 4-§t A-4RT5 REFR BR4T 4 4 -25 90 8941054324
i
52.5
e —
! Y
.
-
(@))
o & =
N — =
Q = )
8941054324
B AEEE
2
1 3
4

EMERSON.



AVENTICS 501 35175 )42 &l i 80
2024-01-19

B fz4d@k, &5 CON-RD

B4HER
M12x1
4t

YRED ) AERE IR
HYEBAT Y RRE
BPER [°C]
[mm]
48 V AC/DC 4-8t AR5 KRR H24T 4 4 -25 90 8941054424
A
* * ’ 35
—— T
|
_A_ A_ e

#320
M12x1
4
E

SW19
8941054424
R E

2
1 3
4

EMERSON.



AVENTICS 501 35175 )42 &l i 81
2024-01-19

[ 2 4d 3k, &% CON-RD

ELTEGPS
M12x1
5-§t

iGE HERERR 25 AEE BRI
BAE K EBEE I BEE
[A] S UNEE:S [°C]
[mm]
48 V AC/ 5-8t A-4RT5 BER®3 | CANopen, 1247 4 6 -40 85 8942051602
DC BE | DeviceNet
A
T I A
A
B s (g &l g
= Q
Y
| - L "
8942051602
B e B R E
2
1 3
(5
4

EMERSON.



AVENTICS 501 35175 )42 &l i 82
2024-01-19

[ 2 4d 3k, &% CON-RD

ELTEGPS
M12x1
5-§t

MELE HBRHBE  R®B i ERRE B, AEE AEE N REXR &S
RAE KEBHKN WEMHN  BEE  REE
(Al RPNEE RAEE  [C] [°Cl]
[mm] [mm]

48 V AC/ 5-8t B-4%8 | AB#I PROFIBUS 1RET 4 6 8 -40 85 8941054044

DC 8e DP

g

[t —

@20

M12x1

8941054044

R
2

EMERSON.



AVENTICS 501 35175 )42 &l i 83
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPR
ELTEGPN
M12x1
M8x1
3-8

BAE BSEE  BRE BAE BAEE  BRE
B1ER 1 BERY B RB B2 %RB 2 @BHRY B2 HB
4 KRR EZITP M8x1 A-4RTE EZVE S M12x1 A-4R15 2 8946203462
ik
4 1 Y | 4 3
____q/c____z‘_ i |
1 |
3 & 31 18 18 47,5 X 1
E b
» L " =
L=kE
8946203462
RAEEL
1
4 3

EMERSON.



AVENTICS 501 35175 )42 &l i 84
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPR
ELTEGPN
M12x1
M8x1
3-8

|
1
1
|
)

vl
A

W =

| —|
|

L

T

A

T S

HE
W

#ME BRE  BEE #mS B  as  Bg  as  Bg  sgf By 8%

B E [A] EREOEE OEE 0 OEE O EE O EE O KE EfQ0 AW
1,K8 1,88 1, R/B 2,KHE 28 2, EB [m [mm]  [mm?]
QR QR
48V 4| KRE# | ZHE| M8x1| ARIE | ZBHE | M12x1 | ARG 2 4.1 0.25 -25 80 R412021696
AC/DC sk sk
48V 4| KRB | ZHIEE| M8x1| AR | ZBFE | M12x1 | A-4R15 5 4.1 0.25 -20 80 R412021697
AC/DC sk sk
FEE S
37 L i L 32
18 18 % 2
Sl
]
| | ]
5 o of
s
|
‘ M12x1
14,6
L=KE

R412021696, R412021697
WREES

1

EMERSON.



AVENTICS 501 35175 )42 &l i 85
2024-01-19

Y BEHEES , CON-RD &5

EZVEHPR
ELTEGPN
M12x1
M8x1

BE BR8N B B B B B B840 B 54
EEOEE O EE O OEE O EE O EE O KE B9 BE
1,68 1,88 1, 4RI 2, KB 28 2 HFEHB [m) [mm]  [mm?]

YR QR
48V 4| KRE#| ZTHE| M12x1 | A-RIE | 24| M8x1| A-REG 0.6 4.1 0.25 -25 80 R412021685
AC/DC sk sk
48V LR | M12x1| A-4REB | 4R | M8x1| A-4RE3 15 4.1 0.25 -25 80 R412021686
AC/DC sk sk
48V 4| RBEW | BTE| M12x1 | AR | S4HE| M8x1| AR 3 4.1 0.25 -25 80 R412021687
AC/DC Sk sk
Gk
46 L L 32 ‘
-~ (o2}
18 X
e g 3

M12x1

14,6
|

210,8

R412021685, R412021686, R412021687

WREEL
2

3 1
4

EMERSON.



AVENTICS 501 35175 )42 &l i 86
2024-01-19

Y BEHEES , CON-RD &5

SISEL

2 x R Bkt
M12x1

a4t

MEEE BR 00 BB BAEE SE BAEE SAEE S4KE 84 SKAE RER  ASH
[A] 18 18 LGB 2%XH  [m]  BEOS [mm] BEE BEE
QR+ [mm] rcl rcl

A-4RIE | 2x MR

48 V AC/
DC

R412021688

M
46 L

M12x1
\

10,8

R412021688
W Bk
2

4

54 1: (1) BN=#3% (3) BU= & (4) BK= 2
54 2: (1) BN = 5®, (3) BU =l 2, (2) BK = 268

EMERSON.



AVENTICS 501 351l 75 a2 &l i

87
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPS
M12x1

FEBRE  ®BIEHKE TR B, ERE AR RIER
BRAE  WBEKH WEEN ERE
[A] BNEE RAER [°C]
[mm] [mm]
48V AC/ 4-8t A-4RTE KRER 1R4T 4 4 6 -40 85 1834484222
DC
i
62
1 —
©
Y <
—~— (O]
g E
N
= | —
[
o
N
Q
1834484222
WAL
2
3 1
4

EMERSON.



AVENTICS 501 35175 )42 &l i 88
2024-01-19

[ 2 4d 3k, &% CON-RD

SISEL
M12x1
a4t

FEBE HBRHE ) 8% HEERA AR, Al GIpES:; B BS
BAE HBEYLKHN HNEHEHN  EEE EEE
[A] BMER BRAER [°C] [°C]
[mm] [mm]
48V AC/ 4-8t D-4w% | BRE#3I | Ethernet, FIRLL 4 6 8 -40 85 R419801401
DC Bt | EtherNet/
P,
EtherCAT,
POWERLINK,
sercos Il
A

M12x1
|
|

19,6

EMERSON.



AVENTICS 501 35175 )42 &l i 89
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPS
M12x1

FEBRE  ®BIEHKE oy B, ERE AR RIER
BRAE  WBEKH WEEN ERE
[A] BNEE RAER [°C]
[mm] [mm]
48V AC/ 4-8t A-4RTE KRER 1R4T 4 4 6 -40 85 1834484223
DC
48V AC/ 4-8+ A-YRTD KRR BR4T 4 2.1 3 -40 85 1834484246
DC
1834484223
41
SN ES
Q = ——
[t}
(o)
AN
Q

1834484246
63

@2,1-3
@4 -5

(¢ 8 i
Az -
2x o °
§ §
Mk

EMERSON.



AVENTICS 501 3 Il 75 [a] 42 %l 90

2024-01-19

1834484223, 1834484246
Rk
2

EMERSON.



AVENTICS 501 35175 )42 &l i 91
2024-01-19

B fz4d@k, &5 CON-RD

EZVEHPS
M12x1
58t

| m————BN(1)

2mm———— WH(2)
3mm————BU(3)
4 m————— BK (4)
5 mm———— GNIYE (5)

BAERE 1, KH BAERE BAER 1, /B BAERE 2, KH
1, BE R~
RER EZS P M12x1 A-YRTE FF R B4 K0 2 8946203432
RER EZVE 0 M12x1 A-4RTB FrHR B R % 5 8946203442
FEE S

o)

< 88 2000

= - | |- -

[

-
1

]

I

M12x1
:ﬁ
|
=
|
I
I
|
|
=1
|
|
A

15,6 5 "
475

A
\

@ 8,6
29,8

(]
!

8946203432, 8946203442
WAL
2

4
(1) BN=43£5 (2) WH=E & (3) BU=IE {3 (4) BK=2 (5) GY=4 & B

EMERSON.



AVENTICS 501 35175 )42 &l i 92
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPS
M12x1
5-§t

MELE BIRHKE Pl B 1BR  EEERE BR, AEE AEE KRR RS
RAE RSN HBR4H REE 2 REE

[A] BMER BRAER [°C] [°C]
[mm] [mm]
48 V AC/ 5-8t A-4R15 | BR#I |CANopen, 1R4T 4 6 8 -40 85 8942051612
DC Bt |DeviceNet
A

1

_‘_ —r
8 g
= Q

8942051612
Rk
2

EMERSON.



AVENTICS 501 35175 )42 &l i 93
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPS
M12x1
5-§t

MEHE =BHIRKE ot iB% EERERA B, A ERE A RIER BS
BAE HBEYLKHN HNEHEHN  EEE ERE
[A] BMEE BAER [°C] [°C]
[mm] [mm]
48V AC/ 5-& B-4%3 | BR#IhPROFIBUS B24T 4 4 9 -25 85 8941054054
DC e DP
i
~ 65

i

)

OO0,

WAAAAANYY

M12x1
@20

8941054054
Rk
2

EMERSON.



AVENTICS 501 35175 )42 &l i 94
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVS P

EZIEPD

M12x1

M12x1

5-8t
1 1
2 2
3 3
4 4
5 5

B& BR B B B B B B840 B 54
EEOEE O EE O OEE O EE O EE O KE B9 BE
1,68 1,88 1, 4RI 2, KB 28 2 HFEHB [m) [mm]  [mm?]

YR QR
48V 4| BRE | ZHE| M12x1 | A-RE | Z5FE | M12x1 | A-RES 2 5.4 0.34 -20 85 R412022193
AC/DC IheE sk sk

375 L 44

|
|
|
T
|
Il
' ‘ M12x1
@146

12,8 |
12,8

M12x1

214,6

L=kKE
a2 B 1:1
1) RIPBRIEFRLH Pin 5 MIFEERRIGIRGT £,

R412022193
RSB
2
1 3
5
4

EMERSON.



AVENTICS 501 35175 )42 &l i 95
2024-01-19

B fz4d@k, &5 CON-RD

EZVEGES
FF R R A L i
M12x1

5-#t

1 m—BN(1)

Qmm—1 WHQ)

3mm—+—BU(3)

4w BK (4)

Smm—1— GR(5)

MERE HBHR R BREER BSE BREERE BREER B4KE =24 2 S&EE REF &S

[A] 1, K8 81,88 1, R/E 2 XkH [m] BEZ-0 [mm?] EEE HEERE
gR [mm] °cl [°C]
48 V AC/ 4| KEW|ZSEL| M12x1| A-RB | FHERS 2 5 0.34 -40 85 R412021691
DC E S
48 V AC/ 4| XREW|ZSEL| M12x1| A-RB | FHRS 5 5 0.34 -40 85 R412021692
DC R
48 V AC/ 4| XREW|ZSEL| M12x1| A-BB | FHRE 10 5 0.34 25 85 R412021693
DC B
A
AT L
.18 _
A & L |
H ] | %

35

[o0]
%
| 8
] |
M12x1_,]
@ 146
L=kE

R412021691, R412021692, R412021693

Ba Bk
2
3 1
5
4

EMERSON.



AVENTICS 501 35!l 75 [a] 4% 1 & 96
2024-01-19

(1) BN=#3& (2) WH=E & (3) BU=IE (4) BK=2 (5) GY=[X

EMERSON.



AVENTICS 501 351l 75 a2 &l i

97

2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPR
ELTEGPN
M12x1
M12x1
5-§t

a A WN =

a B~ WN =

Bk BN B B B B B B3 48 BY S&
EREOEE OEE 0 OEE O EE O EE O KE EfQ0 AW
1,K8 1,88 1, R/B 2,KHE 28 2, EB [m [mm]  [mm?]
YR QR
48V 4| KRE# | ZHE| M12x1 | AR | Z5FE | M12x1 | ARG 2 5 0.34 -25 85 R412021694
AC/DC sk sk
48V 4| KRB | ZHEE | M12x1| AR | ZBE | M12x1 | A-4R15 5 5| 034 -25 85 R412021695
AC/DC sk sk
FEE S
37 L L
18 18
J_ [ ©
l S S—— xd
— — Q
@ ;» )
8 8

R412021694, R412021695

R E R
2

EMERSON.



AVENTICS 501 35175 )42 &l i 98
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPR
ELTEGPN
M12x1
M12x1

i /
C 1

2 /

(3

C4
5
6

® N A WN =

(8

HE B @ RBR BN B B EB40 BY @ S&%
BE [A] EEOEE EE KE B0 BHE
1,3R8 1,88 2, w3 [m] [mm]  [mm?]
QR
36V 15| AR | S5E | M12x1 | A4RED | S5 | M12x1 | A-4RE5 05 66| 0.25 25 80 8946202802
DC/ IheE sk sk
30V
AC
36V 15| AR | SHE| M12x1 | A4RES | SR | M12x1 | A-4RED 1 66| 0.25 -25 80 8946202812
DC/ IhaE sk sk
30V
AC
36V 15| AR | SHE | M12x1 | AR | SR | M12x1 | A-4RED 2 66| 0.25 -25 80 8946202822
DC/ IheE sk sk
30V
AC
36V 15| BRM| ZHE | M12x1 | A-RB | S5 | M12x1 | A-RB 5 6.6 0.25 -25 80 8946202832
DC/ IheE sk sk
30V
AC
36V 15| BRB | ZHE | M12x1 | AR | ZRFE | M12x1 | A-RB 10 66| 0.25 -25 80 8946202842
DC/ IhéE sk sk
30V
AC
pEE S
43 L 46,5

15,8

M12x1
13,5
M12x1

EMERSON.



AVENTICS 501 331 77 a2 1 3 99
2024-01-19

8946202802, 8946202812, 8946202822, 8946202832, 8946202842
R E R

EMERSON.



AVENTICS 501 35175 )42 &l i 100
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPS
M8x1
3-8

MERE  BHRME B, A EE A ERE RIETH
RAE  WEBESHN BN BRE
[A] BPER  BRRER [°C]
[mm] [mm]
48 V AC/ 3-gt A-4RTS RER 14T 4 35 5 -40 85 R412021676
DC

38,4
32,4

R412021676
W B

1

4 3

EMERSON.



AVENTICS 501 35175 )42 &l i 101
2024-01-19

B fz4d@k, &5 CON-RD

LREL
M8x1
3-8t
ﬂ
I = o
1> 1
3> 3
i i
14> =4

BSE BHSERE B BSIE SR BSE HEKE SHH4ERO
BA,RR 1, BARY B EB B2 KR 2 #BRY B2 RS [m] [mm]
KRR EZIE P M8x1 A-4RTE ZAEk M8x1 A-RT5 1 45 8946203702
RER EZIETPS M8x1 A-4RTE EZVE b M8x1 A-YRTE3 2 45 8946203712
RER EZIE B M8x1 A-4RTE EZVS P M8x1 A-URTE 5 45 8946203722
Gk
—~t L -
B or | B 31 _
22.5
- i e Y i 5 e
= HAAA —{AARAN Sy
© I
(o)) <t o
Q Q Q

8946203702, 8946203712, 8946203722
RREEX

1

EMERSON.



AVENTICS 501 351l 75 a2 &l i

102
2024-01-19

B fz4d@k, &5 CON-RD

EZVEHPS
M8x1
3-8

[fe=—1—BN
|3 =———BU
[4=—f—BK

{ERTE—

=

HEBE BR B EBAEE BSE BSERE BYAKE ®BY% S%EE SEF S5H
[A] 1, K8 81,8 1, R/E [m] BER-QZ [mm3 EEE HEERE
YR~ [mm] [°C] [°C]
30 V AC/ 3| KRE | ZEEX M8x1| A-4miS | FFRNE 3 45 0.25 25 80 8946203602
DC KK
30 V AC/ 3| KR | ZHEX M8x1| A4 | FHRKE 5 45 0.25 25 80 8946203612
DC BRI
30 V AC/ 3| KRREE | ZNEX M8x1| A-4miG | FRKE 10 45 0.25 25 80 8946203622
DC YRR
bk S
P
@10
50
v [

@45 LI

8946203602, 8946203612, 8946203622
WREEk

1

4 3

(1)BN=f3f2 3 ) BU=EE® (4)BK=2

EMERSON.



AVENTICS 501 35175 )42 &l i 103
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPS
M8x1
3-8

WMEBE ®BHRKE YR 5% EERR B, AERE AERE =K
BAE HEESH  HIE4H RRE
[A] BPMER BRAER [°C]
[mm] [mm]
48 V AC/ 3-8t AR5 KRR 1R4T 4 3.5 6 -25 85 R412021677
DC

|
I
|
M8x1
@13

R412021677
WA Bk

1

4 3

EMERSON.



AVENTICS 501 35175 )42 &l i 104
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPR
ELTEGPS
M8x1
M8x1
3-8

|
1
1
|
)

vl
A

| —|
wW =

HE
W

|

L

T
s
L

BRE  BEE #mS B  as  Bg  as  Bg  sgf By 8%

[A] EREOEE OEE 0 OEE O EE O EE O KE EfQ0 AW
1,K8 1,88 1, R/B 2,KHE 28 2, EB [m [mm]  [mm?]
YR QR
48V 4| KRE# | ZHE| M8x1| A-RIB| ZBHE | M8x1| ARG 1 4.1 0.25 -25 80 R412021681
AC/DC sk sk
48V 4| KRB | SHIE| M8x1| AR | ZBE| M8x1| A-4R1G 2 4.1 0.25 -25 80 R412021682
AC/DC sk sk
48V 4| REW| ZHIEE| Msx1| AR | ZBE| M8x1| ARG 5 4.1 0.25 -25 80 R412021683
AC/DC Sk sk
Gk
27,4 L 32 | @
18 18 o g

¥ E==|

R412021681, R412021682, R412021683
R RE

1

EMERSON.



AVENTICS 501 35175 )42 &l i 105
2024-01-19

[ 2 4d 3k, &% CON-RD

EZVEHPS
M8x1
3-8

[fe=—1—BN
|3 =———BU
[4=—f—BK

{ERTE—

MERE HBHR R BREER BSE BREERE BREER B4KE ®H4 2 SK&EEHE REF  &5H

[A] 1, K8 1,8 1, KB 2 XH [m] BEZ-0 [mm?] BEE ERE
QR [mm] °C] [C]
48V AC/ 4| KREE|SBEL|  M8x1| AGE|FHX®H 2 4.1 0.25 25 80 R412021678
DC R
48V AC/ 4| KREW|BRIEL|  M8x1| AR | FHR® 5 4.1 0.25 25 80 R412021679
DC e
48V AC/ 4| KREW|SRHEL|  M8x1| AR | FHRS® 10 4.1 0.25 25 80 R412021680
DC YR 1%
WA
i 27 .4 e L |
- 18
A o |
] |
O |
o
N
I
Y |
| M8x1
__| 99,9
L=kE

R412021678, R412021679, R412021680
R RE

1

4 3

(1)BN=#f 3 ) BU=Es (4)BK=2f

EMERSON.



AVENTICS 501 35175 )42 &l i 106
2024-01-19

LWL , CON-MP X%l

EZVEHPS
D-Sub
254t

HSE BHHEKE S5 S&EE SEF 5%
B2 12 [m] EE-QZ [mm?3 REE BRE

QR [mm] [°C] [°C]
24V DC 3 KRR | ZEHEL D-Sub | Z4HEk D-Sub 0.5 8.5 0.2 -20 80 R412020635
24V DC 3 KER | ZEHEL D-Sub | Z4tHiEk D-Sub 1 8.5 0.2 -20 80 R412020636
24V DC 3 RE® | 2oL D-Sub | Z4HEk D-Sub 2 8.5 0.2 -20 80 R412020637
24V DC 3 KRR | 2oL D-Sub | Z4HEk D-Sub 5 8.5 0.2 -20 80 R412020638
24V DC 3 KRR | ZEHEL D-Sub | Z4HEk D-Sub 10 8.5 0.2 -20 80 R412020639
g
2)
L ) s
1) -+ ALLA-1]-
| \ |
! \ !
| |
=il e
L 3 |
; ) _,E_ ...... 5
1) #EO1 (ZTEX)
2) 02 (ZEHEX)

R412020635, R412020636, R412020637, R412020638, R412020639
bl el TR =R

EMERSON.



AVENTICS 501 35175 )42 &l i 107
2024-01-19

LWL , CON-MP X%l

EZVEHPS
D-Sub
254t

MEBE BR ! BAE BHEKE B4 S48 REFX S5K

[A] 2, 1% [m] Bf-0 [mm?] EEE HERE

SR [mm] [°C] [°C]
24V DC 3 KER | ZEEkK D-Sub | Z4tHEL D-Sub 0.5 8.5 0.2 -20 80 R412020630
24V DC 3 REFER | ZodEk D-Sub | 4k D-Sub 1 8.5 0.2 -20 80 R412020631
24V DC 3 KER | Bk D-Sub | Z4tHAL D-Sub 2 8.5 0.2 -20 80 R412020632
24V DC 3 RER | ZRIEkK D-Sub | Z4tHEL D-Sub 5 8.5 0.2 -20 80 R412020633
24V DC 3 KRER | ZEk D-Sub | Z4tHEL D-Sub 10 8.5 0.2 -20 80 R412020634
A
1) L

lj'[]l',%]ﬂ{ ----- 0 S ]],'}]{

1) 8O (BBHEX)
2) #EO2 (BEHEK)

R412020630, R412020631, R412020632, R412020633, R412020634
EE S EMELAHE

EMERSON.



AVENTICS 501 35175 )42 &l i 108
2024-01-19

EELES, %% CON-AP

EZVEHPR
ELTEGPS
M8x1
M12x1
3-8

R
|3 ——c3i

|
—t

B, BRAE YRS

4 R412021684

IM8|
.
M12

R412021684
W E Ak

1

4 3

EMERSON.



AVENTICS 501 35175 )42 &l i 109
2024-01-19

HFEFEL, &5 CON-RD

23Sk
M12x1
4t

4-8t B-41 PROFIBUS DP -25 80 8941054064
bk
- 42 -
B 255 R
14,5 L
_— L ¥y =
U U U P = cﬁ
- — —-—-—+ 11— =—=—H = A <=
~ N L -
8941054064
WA B
2
3 1
4

EMERSON.



AVENTICS 501 35175 )42 &l i 110
2024-01-19

HFEFEL, &5 CON-RD

EZVEHPS
M12x1

REFRRERE
[°C]
5-8t A-lRTE CANopen, DeviceNet 0 60 8941054264
I
45 -

5 1[[1]
0 «—
s &
Sk il
8941054264
HREiEk

2
3 1
5

4

EMERSON.



AVENTICS 501 R 5175 B 241 11
2024-01-19

Y BE#SR , CON-AP &5

EZAEPD
M8x1
3-gt
T
2 —
3 3 A
4 4
—C1
3 B
e

4 8941002382
Ak
39,2
9.8
L i, 725
¥ % o 154
S = s

M 12x1

19,3

8941002382
WAk
2

EMERSON.



AVENTICS 501 351l 75 a2 &l i

112
2024-01-19

Y BUEHREES , CON-AP R 5

EZVEHPR
ELTEGPN
M12x1
M12x1
5-#

_-—
—E
L
_;:B
—

4 8941002392

A
~46,2

RS 20,2 15,7

M12x1
5

>
@14,

20
|
N
14,5

>/|

w

HEE: Pin 2 f 4 BFFE,

8941002392
WS E

4|

o

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




